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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
A1 5824 10.4 3.3 20 52.2 86

SPaG Q1 5823 2.7 1.2 4 66.3 86
A2 2596 10.7 3.4 20 53.5 38.3

SPaG Q2 2595 2.9 0.9 4 72.2 38.3
A3 1884 10.3 3.2 20 51.6 27.8

SPaG Q3 1884 2.8 1 4 69.3 27.8
B4 6122 11 2.8 20 55 90.4

SPaG Q4 6121 2.9 0.9 4 72.7 90.3
B5 3629 10.7 3 20 53.4 53.6

SPaG Q5 3627 2.8 0.9 4 70.8 53.5
B6 266 10 2.9 20 50 3.9

SPaG Q6 265 2.7 0.9 4 66.6 3.9
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Line

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Section A - Physical Options

Answer at least one question from this section, but no more than two.

Theme 7 – Our Changing Coastline

1.	 (a)	 Study the map below which shows coastal areas at risk of a 2 metre rise in sea level.

Coastal areas of Wales and England at risk of a 2 metre rise in sea levels

© WJEC CBAC Ltd.
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	 (i)	 Describe the locations of the coastal areas most at risk in England and Wales.	 [2]

	

	





1

Sticky Note
Read the question carefully! The question asks for the areas most at risk. This response says that the areas 'at risk of flooding are all around the coast' which isn't what the question has asked!

Sticky Note
This response only makes one simple statement and the examiner has credited east coast (1). What other detail could you add, using evidence from the map?





2

Sticky Note
There is a third credit worthy statement here - but the candidate already has two marks.

Sticky Note
One mark for 'east of England'

Sticky Note
The second mark 2 for identifying that East Midlands is particularly at risk - with good use of the scale.
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(ii)	 Study the pair of photographs below. They show the coastline at Happisburgh, 
Norfolk, a coastline that is eroding rapidly.

The coastline at Happisburgh, 
Norfolk in 1988

The coastline at Happisburgh, 
Norfolk in 2009

Use the photographic evidence to compare the coastline in 2009 with that in 1988.
[4]

N N
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Sticky Note
The last part of this response tries to explain why the erosion has occurred. This may be true but the question hasn't asked for an explanation so this part of the response hasn't been credited.

Sticky Note
Read the question carefully. It asks you to: 
1) Use the evidence in the photograph. As a geographer you should always be prepared to use the scale and the North arrow so that you can quantify your answer.
2) Compare means to describe any similarities or differences between the photographs. The red line has been added to the 1988 photograph to make it easier to see exactly how much change there has been.

Sticky Note
Overall this is a good Level 2 response worth 3 marks.

Sticky Note
The loss of 'a number of houses' is an example of a simple elaboration that indicates Level 2.

Sticky Note
This response has used the scale effectively to describe the amount of erosion. 
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Sticky Note
This candidate has responded to the command word 'compare' by using sentences that make direct comparisons between the two photographs. Some candidates ignored the 'compare' command and simply described what they could see in one photograph.

Sticky Note
Read the question carefully. It asks you to: 
1) Use the evidence in the photograph. As a geographer you should always be prepared to use the scale and the North arrow so that you can quantify your answer.
2) Compare means to describe any similarities or differences between the photographs. The red line has been added to the 1988 photograph to make it easier to see exactly how much change there has been.

Sticky Note
Levels marking is a 'best fit' process. This response was awarded top level 2 for 3 marks. This answer includes more complex reference to scale, however, it needs additional detail on areas of most erosion or use of compass direction to be credited at Level 3.

Sticky Note
The candidate makes another useful comparative statement here by referring to the removal of sea defenses since 1988.

Sticky Note
This response has used qualitative terms eg much larger beach effectively. It has also used the scale line to give a quantitative response. The examiners are always pleased to see these two different ways of responding to the analysis of a map, graph or aerial photograph.
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(b)	 Describe how landforms affect the lives of people living along the coast.
Use examples at named place(s) to support your answer.	 [6]

1





4

Sticky Note
The examiners like to see the use of examples. This example goes beyond naming a place. The candidate proves they know some specific details about the location and the problems caused by erosion of this cliff.

Sticky Note
This answer is strong on the specific example and this includes different impacts. How could you improve this answer to move into L3? Could you add a second example to improve the breadth of knowledge that has been demonstrated here?

Sticky Note
The response develops the impact of living in this caravan park, reflecting on the economic and personal impact.

Sticky Note
This response starts by naming appropriate landforms and processes. It also makes a clear link to the effects on people. The candidate has done well to read the question and address it correctly.






5

Sticky Note
The examiners are always pleased to see places used as examples. Geography is about real places!

Sticky Note
Overall answer includes reference to different landforms rather than on the processes linked to them. Descriptions are mostly accurate and the answer is at Level 3 and worth 5 marks. An additional named example linked to cliff recession would support credit at 6 marks.

Sticky Note
The candidate correctly links the beach to the positive impacts on people. The concept of the 'multiplier effect' is mentioned, but this concept could have been explained in more detail. What kinds of jobs would benefit?

Sticky Note
Good use of cliffs and erosion / retreat to show impact on people in a negative way. This gives the response some balance between the positive and negative effects of landforms on people. However, the candidate hasn't named anywhere to support this part of the answer. What example could you have given?

Sticky Note
The response immediately identifies a beach as an appropriate landform.



(4232-02) Turn over.

4
2

3
2

0
2

0
0

0
5

5
Examiner

only

© WJEC CBAC Ltd.

	 (c)	 Explain why named processes lead to the formation of coastal spits.	 [8 + 4]

Marks for spelling, punctuation and the accurate use of grammar are allocated to this 
question.

8 4

1





4 3

Sticky Note
This detail is accurate but it is describing the features of a spit rather than explaining the formation of it. How could you improve this part of the answer?

Sticky Note
Description is correct but not with all details e.g. swash / backwash. The diagram supports the answer and shows knowledge of the feature. However, the explanation is limited so overall this is top L2 = 4 marks.
SPaG is generally accurate, although the geographical term 'spit' is spelled incorrectly several times so SPaG is Level 2 = 3.

Sticky Note
The response links the ideas of the prevailing wind and the movement of sediment by longshore drift in a simple explanation. 

Sticky Note
This sketch may be simple but it does refer to wind direction and the swash and backwash arrows have been drawn accurately in relation to the wind. The sketch supports the statements made in the first sentence of the written response.

The examiners saw a lot of sketches where the relationship between prevailing wind and the direction of longshore drift were not accurately made.





35

Sticky Note
Why does the end of the spit become curved. Its always worth re-reading the question as you go along. In this example the candidate has lapsed into describing the spit rather than explaining its formation.

Sticky Note
Details on longshore drift are mostly correct and add some explanation to the landform. The diagram confirms this understanding. 
This is a L3 answer as there is detailed description plus some explanation, though the factors linked to the final form of the spit itself are less convincing.
SPaG is almost faultless so is awarded 4 marks.

Sticky Note
Explanation links process of sediment transport to the formation of the spit.

Sticky Note
Prevailing wind and direction of swash and backwash are correct as is simplified addition of the spit itself.
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SECTION B – HUMAN OPTIONS

Answer at least one question from this section, but no more than two.

Theme 10 – Tourism

4. (a)	 Study the graph below.

The number of tourists visiting different parts of the world (millions)
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(i)	 Describe how the overall trend in tourist arrivals is changing over time.	 [2]
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Sticky Note
Overall trend increasing (1) with correct quantification and units included (1).
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1

Sticky Note
Credit 1 mark for the overall trend which is 'growing' (increasing).





1

Sticky Note
1 mark awarded for correct trend indentified.
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(ii)	 In 2010, 10% of visitors to Kenya came from the USA.
Add an arrow to the map to show visitors from the USA. 
Describe the pattern shown on your completed map.	 [4]

Origin of tourists visiting Kenya in 2010
4a





2

Sticky Note
Identifies that more visitors come from Europe than 'Brazil, India and China'. This is a lower level 2 answer and worth 2 marks. 
How could you improve this answer? Think about using the width of the arrows to quantify the answer.

Sticky Note
Arrow is the correct width but is facing in the wrong direction so has not been credited.
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Sticky Note
All aspects of L3 included - 4 marks awarded.

Sticky Note
Provides some quantification to illustrate difference in tourist numbers.

Sticky Note
Draws out idea that most are from MEDCs and less from LEDCs.

Sticky Note
Accurate line connecting USA to Kenya. This allows the overall credit to be considered at L3.





2

Sticky Note
The answer draws out the fact that most tourists are from MEDCs and north of Kenya. There is enough elaboration for L2 = 2 marks.

Sticky Note
Arrow is in correct place but is too wide for required scale so is not credited and the answer is not able to reach L3 overall.



18

(4232-02)

Examiner
only

© WJEC CBAC Ltd.

(b)	 Explain why attracting large numbers of tourists to sporting events like the Olympic Games 
or the Football World Cup can have a positive impact on the host country.	 [6]

4





3

Sticky Note
This question assesses the candidates' ability to apply their own knowledge and understanding. There is no need to know about the specific sporting events listed in the question. Candidates could have used any sporting event to apply their understanding of:
- the positive multiplier effects on the local economy;
- the legacy (or long term) benefits for the local community such as improved infrastructure (including transport links), better community  sports facilities or sustainable housing.

Sticky Note
Most of the answer is relatively simple but there are a number of relevant points with some explanation. This is just credit worthy at L2 and 3 marks.

Sticky Note
A further simple, positive impact but its another example of a generic point. The examiners are always impressed by specific detail. How would you use the 2014 Football World Cup or the 2012 London Olympics to make a similar point?

Sticky Note
The candidate has named an example but it's not specific - what sporting event is being referred to here? Could you give another example?

Sticky Note
The response starts with simple explanation of three positive benefits.
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or 

4

Sticky Note
This question assesses the candidates' ability to apply their own knowledge and understanding. There is no need to know about the specific sporting events listed in the question. Candidates could have used any sporting event to apply their understanding of:
- the positive multiplier effects on the local economy;
- the legacy (or long term) benefits for the local community such as improved infrastructure (including transport links), better community  sports facilities or sustainable housing.

Sticky Note
This answer includes good reference to named places and a number of relevant positive impacts. This is mostly at L2 with points going beyond a simple list. The response was awarded 4 marks at top of L2.

Sticky Note
Higher level explanation linked to a different named example.


Sticky Note
Simple benefits listed with brief explanation in relation to an example.





4

Sticky Note
The link to London is better and shows the potential to develop a L3 response about the longer-term impact.  However,  this is not fully developed beyond L2.

Sticky Note
Answer shows a number of positive impacts and some are explained. The final point is closer to L3 but overall this is a L2 answer worth 4 marks.

Sticky Note
The response gives a simple link to positive impacts. The concept of the positive multiplier is named but only with limited development.
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	 (c)	 Describe how different physical and human factors lead to different forms of tourist 
development.
Use named places to help your answer.	 [8 + 4]

Marks for spelling, punctuation and the accurate use of grammar are allocated to this 
question.

8 4

4





4 3

Sticky Note
This response fails to link the factors (eg white beaches and hot climate) to the type of tourist development (mass tourist resorts).

Sticky Note
This answer is mostly L1 and L2 with mostly descriptive content on a range of factors. The example on Lebanon shows more understanding through the detail included. This answer is top of L2 and worth 4 marks. Spag = 3 marks.

Sticky Note
Plan ahead! This candidate has now remembered that Cancun's climate is another factor. This is a simple reference to climate without a specific link to how it influences the type of tourism.

Sticky Note
The examiners credited negative factors that hinder tourism development.

Sticky Note
Named example is appropriate. However, its not fully developed. How could you improve this?
HINT - location is important! Where is the Yucatan? Describing the location would not only help to explain why it has a hot climate but also why so many American tourists visit here.





5 3

Sticky Note
Here is the second example the factor is culture / history (the pyramids) and this lead to the development of historical tours.

Sticky Note
The third example is here -  the feature (cold climate) has been linked to the type of tourism (skiing). But its still quite vague. How could you improve it? You need to give some precise details:
- What is the climate like, exactly? How much snow do they have? Where does it fall - name some resorts!
- What are the ski resorts like? How are they used in the summer?

Sticky Note
The second part of this answer includes physical and human factors that affects types of tourism. Whilst correct they are not always very specific and the overall award is at L3 = 5 marks. SPaG = 3. The spelling and punctuation is generally accurate although a few spelling errors (Pyrimides, heratiage, experince) means that the top level has not been awarded.


Sticky Note
The examiners were disappointed that a lot of candidates failed to link the factors (eg white beaches and hot climate) to the type of tourist development (mass tourist resorts). This response manages to develop three simple links. Can you spot the second and third one? 

Sticky Note
Honeypot sites should be named to identify with the type of tourism; eg volcanic features / physical environment.





3 3

Sticky Note
The candidate is describing another feature of tourism in Cancun here and they are not relevant to the question. You need to read the question carefully and answer it - you are unlikely to get a good mark if you write everything you know about a case study you have learned!

Sticky Note
There's some confusion at the beginning of this response. 'Cheap budget holidays, watersports and rock climbing' are different forms of tourist development - they are not human factors. 

The following are factors that have encouraged the development of tourism in the Yucatan:
- the tropical climate;
- long sandy beaches;
- its close to the USA. 


Sticky Note
Overall this answer fails to go beyond a number of descriptive points. It is not well planned and parts of the answer are irrelevant to the question. It was given L2 = 3 marks. SPaG =3. The spelling is generally accurate but there are some grammatical errors which mean that it cannot be awarded the highest level.

Sticky Note
This reference to Costa Rica has potential but its vague. How could you improve this part of the answer? Think about the physical factors here - what features of the ecosystem and its climate attract tourists to Costa Rica? Can you add detail to the 'ecotourism' statement? What kind of tourist developments is the candidate trying to describe?

Sticky Note
There is a simple list which combines physical and human factors here (history, culture, climate and wildlife) although the candidate describes them all as 'physical' factors. 
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(a) (i) Describe the locations of the 
coastal areas most at risk in 
England and Wales. 


Reserve one mark for East coast / 
North Sea Coast. 
Credit one other simple statement / 
use of compass. 
Do not credit converse 


Mainly in east / East of England (1) on North 
Sea coast (1)  
Close to London / SW Wales / NE England / 
Yorks / Humber / Holderness / east 
Midlands / The Wash (1) 


2 2 
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(ii) Use the photographic 
evidence to compare the 
position of the coastline in 
2009 with its position in 
1988. 


Award 0 marks if level 1 is not met. 


Level 1 
1 mark 


Simple statements 
about photo(s) 


Level 2 
2-3 marks 


Statements are 
elaborated 


Level 3 
4 marks 


Direct comparisons are 
made using photo 
evidence, scale line or 
compass. 


Level 1: erosion with cliff moving inland 
Level 2:, headland / sea defences / slipway 
have been eroded, significant loss of 
farmland, loss of houses on due to cliff 
collapse 
Level 3: cliff has retreated by 20m – 50m 
between 1988 and 2009, the beach in 2009 
is much wider than in 1998, more erosion 
to North of headland after 1988, the coast 
has eroded rapidly to the W / SW 


1 3 4 (a) 
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(b) Describe how landforms affect the lives of people living along the coast. See level descriptors below 4 2 6 


Question 1(b) 


Level Level descriptor 


Level 1 
1-2 marks 


Simple / general description of landform(s) with general comment on how people are affected. 
Information is communicated by brief statements.  There is a basic structure.  There is reasonable accuracy of 
spelling, punctuation and grammar. 


Level 2 
3-4 marks 


Description of how people are affected by landform(s) or landform processes. 
Communication is clear and logical. Spelling, punctuation and grammar have considerable accuracy. 


Level 3 
5-6 marks 


Accurate description of one or more ways that people are affected by landform(s) or landform processes. 
Examples at named places correct and in context. 
Communication is clear, logical and has structure. Specialist terms are used with proficiency. Spelling, 
punctuation and grammar have considerable accuracy. 


Landforms included such as cliffs, beaches, arches, stacks, coves / bays, spits and salt marshes indicative content:  Negative or hazardous - 
cliff location and possible collapse with impact on homes / transport; farmland lost, camping and caravan sites. Need to protect coastline and 
impact of strategies, both hard and soft such as managed retreat; build artificial reefs 
Positive – Spits act as protection, coves as harbours, beaches for leisure / tourism, famous landmarks, salt marsh environments, Nat. Parks; 
geology can affect the nature of the landform and its resistance to erosion 
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(c) Explain why named processes lead to the formation of coastal spits. See level descriptors below 5 3 4 12 


Question 1(c) 


Level Level descriptor 


Level 1 
1-2 marks 


Simple / general description of landform or process. 
Information is communicated by brief statements.  There is a basic structure.  There is reasonable accuracy of 
spelling, punctuation and grammar. 


Level 2 
3-4 marks 


Description of process. 
Communication is clear and logical. Spelling, punctuation and grammar have considerable accuracy. 


Level 3 
5-6 marks 


Explanation links process to formation / change in structure of the landform. 
Communication is clear, logical and has structure. Specialist terms are used with proficiency. Spelling, 
punctuation and grammar have considerable accuracy. 


Level 4 
7-8 marks 


Accurate explanation links process to formation / change in structure of the landform. 
Communication is very clear, sophisticated and well structured. Specialist terms are used adeptly. Spelling, 
punctuation and grammar have consistent accuracy. 


Indicative content:  A spit is a landform resulting from deposition of sand or shingle where longshore drift moves large amounts of sand  
and shingle along the coast with one end attached to the land.  Many spits have a hooked or curved end.  They form where the coastline 
suddenly changes direction / river estuary to leave a shallow, sheltered area of water behind it.  


Assessment of spelling, punctuation and the accurate use of grammar in Question 1(c) 


Level Performance descriptions 


0 Candidates do not reach the threshold performance outlined in the performance description below. 


Threshold 
performance 


1 mark 


Candidates spell, punctuate and use the rules of grammar with reasonable accuracy in the context of the 
demands of the question. Any errors do not hinder meaning in the response. Where required, they use a limited 
range of specialist terms appropriately. 


Intermediate 
performance 
2 - 3 marks 


Candidates spell, punctuate and use the rules of grammar with considerable accuracy and general control of 
meaning in the context of the demands of the question. Where required, they use a good range of specialist 
terms with facility. 


High 
performance 


4 marks 


Candidates spell, punctuate and use the rules of grammar with consistent accuracy and effective control of 
meaning in the context of the demands of the question. Where required, they use a wide range of specialist 
terms adeptly and with precision. 
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(a) (i) Describe the overall trend 
in tourist arrivals is 
changing over time. 


Reserve one mark for identification of 
overall trend. 
Max 1 mark for qualification or 
quantification of the overall trend of 
changes in any one region. 
Quantification must include unit – 
millions and years. 


Overall increase (1)  
Example of quantification: from about 10 
million in 1950 to 1100 million in 2013 (1), 
Since 1980 new growth in Middle East/ Asia 
/ Americas (1) 


2 2 
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(ii) Add an arrow to the map 
to show visitors from the 
USA and describe the 
pattern shown on your 
map. 


Award 0 marks if level 1 is not met. 


Level 1 
1 mark 


Simple arrow with no 
indication of scale / 
statements about map 


Level 2 
2-3 marks 


Arrow is added. 
Statements are 
elaborated. 
Max L2 if arrow is 
missing or incorrect 


Level 3 
4 marks 


Arrow is accurate and 
quantified/qualified 
description of pattern 
across whole of map. 


Arrow = 5mm (+/-1mm) and starts in 
USA. Credit overall pattern and 
qualification or quantification. 


Level 1: Most visitors are from Europe. 
Least from Brazil. 


Level 2: More visitors from Europe than 
South Africa. 


Level 3: Most visitors come from Northern 
hemisphere / richer countries / north of the 
equator / the north. 46% / almost half come 
from Europe whereas less come from 
LEDCs / southern hemisphere. 


1 3 4 (a) 
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(b) Explain why attracting large numbers of tourists to sporting events like the 
Olympic games or the Football World Cup can have a positive impact on the 
host country. 


See level descriptors below 4 2 6 


Question 4(b) 


Level Level descriptor 


Level 1 
1-2 marks 


Simple / general explanation 
Information is communicated by brief statements.  There is a basic structure.  There is reasonable accuracy of 
spelling, punctuation and grammar. 


Level 2 
3-4 marks 


Explanation 
Communication is clear and logical. Spelling, punctuation and grammar have considerable accuracy. 


Level 3 
5-6 marks 


Accurate explanation of a range of positive impacts 
Communication is clear, logical and has structure. Specialist terms are used with proficiency. Spelling, 
punctuation and grammar have considerable accuracy. 


Indicative content:  Construction work, multiplier effects, legacy of sporting facilities, global audience, tourists. Named benefits that link to 
people, economy and environment. Foreign investment and local businesses benefit; different cities attract investment 
Longer term impacts and possibly mote typical at Level 3 are answers referring to the degree of sustainability and benefits to local communities 
linked to government plans to improve areas of deprivation; social housing; investment in services / improved infrastructure 
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(c) Describe how different physical and human factors lead to different forms of 
tourist development. 


See level descriptors below 5 3 4 12 


Question 4(c) 


Level Level descriptor 


Level 1 
1-2 marks 


Simple / general description of factors that affect tourism. 
Information is communicated by brief statements.  There is a basic structure.  There is reasonable accuracy of 
spelling, punctuation and grammar. 


Level 2 
3-4 marks 


Description of a range of factors that affect tourism. 
Communication is clear and logical. Spelling, punctuation and grammar have considerable accuracy. 


Level 3 
5-6 marks 


Description of physical and/or human factors that affect forms/types of tourism. 
Communication is clear, logical and has structure. Specialist terms are used with proficiency. Spelling, 
punctuation and grammar have considerable accuracy. 


Level 4 
7-8 marks 


Description of physical and human factors that affect specific forms/types of tourism using named places. 
Communication is very clear, sophisticated and well structured. Specialist terms are used adeptly. Spelling, 
punctuation and grammar have consistent accuracy. 


Indicative content:  Physical factors – winter and summer climate lead to skiing or traditional coastal / beach holidays; mountains for  
skiing or walking; countries like Iceland have volcanic landforms that attract people; iconic landforms such as Grand Canyon attract tourists 
Human factors – historical features / museums, city environments, income available and cost of holidays; desire to stay ‘local’; green choices 
linked to carbon footprint; retired population travelling more regularly abroad; ease and cost of transport. 
Accept converse ie accept factors that discourage development of tourism such as conflict / instability / terrorism. 
Forms/types of tourism - sunny, warm climate and beaches led to development of mass tourism; greater prosperity and better transport has 
led to development of eco-tourism in places that have abundant wildlife eg rainforests. 


Assessment of spelling, punctuation and the accurate use of grammar in Question 4(c) 


Level Performance descriptions 


0 Candidates do not reach the threshold performance outlined in the performance description below. 


Threshold 
performance 


1 mark 


Candidates spell, punctuate and use the rules of grammar with reasonable accuracy in the context of the 
demands of the question. Any errors do not hinder meaning in the response. Where required, they use a limited 
range of specialist terms appropriately. 


Intermediate 
performance 
2 - 3 marks 


Candidates spell, punctuate and use the rules of grammar with considerable accuracy and general control of 
meaning in the context of the demands of the question. Where required, they use a good range of specialist 
terms with facility. 


High 
performance 


4 marks 


Candidates spell, punctuate and use the rules of grammar with consistent accuracy and effective control of 
meaning in the context of the demands of the question. Where required, they use a wide range of specialist 
terms adeptly and with precision. 
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